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Instructions : Attempt all questions.

(i) SR E Afc savEe g, a1 fasll 1o e o1 THrey SHife |
Use diagrams or flow-charts if necessary.
(ifi) ¥ SHHTH 23 ¥ 26 T & I § Al fasheq few mu ¥

In Question Nos. 23 to 26, internal options are given.

T : (31) T HHH 1 Y 5 I STfqerEadd U § | Y% Y9 W 1 ik esifed
81 (ST 1 AfhaH Iee-EH1 1 A=/ 1 A1)
Instruction : (A) Question Nos. 1 to 5 are very short answer type questions. Each

question carries 1 mark. (Maximum word-limitis 1 word / 1 sentence)

Y9a-1  ZIFT o1 90 9 Saisy | [1]
Give full name of ZIFT.
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YIT-2

YI1-3

W-5

ot

[2]

IRSIHT (ZRSiteh) el =ed § e faerfia & 3= A6 gt § 2

Which vitamin is found in more quantity in transgenic golden rice?

Nif S+ forg gawsita & 9 S € ?
In which microorganism Nif gene is found ?
T W §@en | qaifies ge fmgent gl ¢ ?

What are found in maximum numbers in a food chain ?

qfifeerfaent formen s o1 TRER Traie] § ?

Inter-relationships between which components are ecosystem ?

: (F) U HHAG 6 ¥ 10 Th AfderEadd T ¢ | Toish 99 W 2 3k Teifed

T (ST 1 ARIHae Tsa-HHT 30 U2 ®)

Instruction : (B) Question Nos. 6 to 10 are very short answer type questions. Each

YIT-6

-7

Y-8

question carries 2 marks. (Maximum word-limit of answer is

30 words)

-] R ?

What is Self-sterility ?

ST YEY Td @870 Y § hTE of ST fafeu |

Write any two differences between Genotype and Phenotype.

ek TRl fohdl Fhedl © 2

What is Reciprocal Cross ?

[1+1=2]
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YIT-9

Y91-10

frasr

[31]
39 geAsia o A9 fafee e graaeniE qor @feq gm fw

SIS | [1+1=2]

Name the microorganisms from which Cyclosporin and Statin are

obtained.

sae fhd ed 8 2 [2]
What is Plasmid ?

: (F) U HHE 11 | 22 T TZad U9 § | T W9 W 3 i e

T (S A Afehan See-HH T 50 =8 ®)

Instruction : (C) Question Nos. 11 to 22 are short answer type questions. Each

question carries 3 marks. (Maximum word-limit of answer is

50 words)

Y9I-11 3T =5k 91 § ? STd sk o 18T shiA-9 BIHI id © 2 [2+1=3]
What is menstrual cycle ? Which hormones regulate menstrual cycle?

U9A-12 AT oh JUU oh STTIE TS hl chael AHiTchd T ST | [1%4+1Y%=3]
Draw a well-labelled diagram of the TS of human testis.

Uya-13  TRA faem &1 § 7 39 fagm & derm fafeu | [1V5+1%=3]
What is Down Syndrome ? Write its symptoms.

Y9A-14 <9 T W SH 1 foarg Juiie ges 9 Sl ©, T SR Sari § Sorer
S I ! Y@ GRI FHEAET | [1Y+1%=3]
When a normal female is married with a colour blind male, then
work out colour blindness in the progeny of these parents with the
help of diagram.

NM-41 A P.T.O.



WIT-15

YI1-16

WIT-17

YI1-18

Y91-19

YI1-20

YI1-21

ToT1-22

[4]
St stfireafa @ © 2 Shamed § s sifveafa =1 < faftmi fafew) [1+2=3]

What is gene expression ? Write two methods of gene expression in

bacteria.

iy oFE o € ? 39 i &1 SR fefEu | [1+2=3]

What is drug addiction ? Write its any two reasons.

3TOHT Sifeerdn o SreS[E o1 Sfial 3 wifiTeh Yot <l 9r © | 7 2 [3]
Higher organisms have resorted to sexual reproduction in spite of

their complexity. Why ?

S e fohd hed § 2 [3]
What is called gene cloning ?

TR YUY T Grell W gure fafa | [V5x6=3]

Write the effect of air pollution on plants.

i Scargehdr Td fgdaeh Scargehdr | &ig diF 2w fafan | [1+1+1=3]
Write any three differences between primary productivity and

secondary productivity.

Sta-fafaean & #IE = ey adree | [1x3=3]

Give any three benefits of Biodiversity.

o9 % HeM & TRfeafas 3 & Sifdas wRepl o1 Gfem aui Hifra | [3]

Explain in brief the biotic factors of Grass-land Ecosystem.
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[S]

: (T) U HHIH 23 FEUSTNT I © | 39 U W 4 3k 3eifed © | (ST hi

STehan ST 75 WIS ¥)

Instruction : (D) Question No. 23 is long answer type question. This question carries

YI1-23

fdor

4 marks. (Maximum word-limit of answer is 75 words)

uelt ferelt AR STHfRERT Srat 3 € L UALT, SR ol TAR R fhE aE
e 3t o1 faior foan, wfes e S [2+2=4]
How does Eli Lilly American Company produce human insulin by

preparing two DNA sequences? Explain with diagram.

sTqar

OR

qrei ST Sj@e sfafenan o fafy= u<i =1 afes =amen wifs |

Explain various steps of polymerase chain reaction with diagram.

: () U HHIE 24 9 26 T SHSTUT Y © | Tk G W 5 3k eifed

T 1 (S A Afhan Ie-HH 750 T2 B)

Instruction : (E) Question Nos. 24 to 26 are long answer type questions. Each question

y9-24

carries 5 marks. (Maximum word-limit of answer is /50 words)

IeEA Te foheh o €IL.UA.T, HiSd ohi GLEHAT ol I 9uH Sita@ | [214+214=5]

Describe Watson and Crick model of DNA with diagram.

sTgar

OR

SLUA.T, & TG ot sreferedt fafy s gfes 9o S

Describe semi-conservative method of DNA replication with diagram.
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[6]
Y9A-25  ITH S O oh1 AHifehd NG SR 8 AW &l Tk Y@ &H fafaw @ [2+3=5]

(37) TRt IR
(7) fafen s

(®) [oh ATEH
Draw a labelled sketch of male reproductive system and write one

main function of the following parts :
(a) Sertoli cells
(b) Leydig cells

(c¢) Vas deferens

OR

SS9 93 1 AWifRd SR@ SR 9 9E T Tw 9E wE
fafe :

(&) 3fug et

(7) Feer (Few)

() ISR
Draw a labelled sketch of female reproductive system and write one

main function of the following parts :
(a) Oviduct
(b) Fimbriae

(¢) Ovary
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yva-26 frofefed A w1 Gexor F9 Sar g ? [1x5=5]
(37) TEEES
(7)) wEofafes
(¥) <&
(3) Wi

(3) =gEif=n

How are the following diseases transmitted?

(a)
(b)
(c)
(d)
(e)

Typhoid
Filariasis
Ringworm
Malaria
Pneumonia

sfqar

OR

3maeh faremR & fReRl =l Ueeniglel 91 g7 & W o fore o Iid e @
3R 3T HY &= S Gohd § ? [2V4+2V4=5]

In your view what motivates young stars to take alcohol or drugs and

how can this be avoided?

oooooooooo
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